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Actual derived points
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The rotatory approach step #1 to step #11
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The rotatory approach step #1
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The rotatory approach step #2
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The rotatory approach step #3
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The rotatory approach step #4
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The rotatory approach step #5
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The rotatory approach step #6
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The rotatory approach step #7
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The rotatory approach step #8
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The result of symmetry after the rotatory fit.

Pic. #12

datum B

#1
#2

#3
#4 #5 #6 #7 #8

#9
#10

#11

S
to
p
p
in
g
th
e
re
fi
n
e
m
e
n
t
h
e
re

=

=

A
B

C

D

E

F

G

H

A B

CD

E F

GH

result of symmetry

S
to
p
p
in
g
th
e
re
fi
n
e
m
e
n
t
h
e
re

min. of

median

points

max. of

median

points

distance AB equal to distance EF

Rectangle ABCD is congruent to

rectangle EFGH.

Quod erat demonstrandum.
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The Datum Reference Frame after congruence-fit.
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